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Seastate
Bft

0 - sea like a mirror
* 1-small ripples
@ 2-small wavelets
® 3 -crests break

® 4-numerous white caps

® 5-moderate waves, some spray

® §- larger waves, more spray
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Seastate
Bft

0 - sea like a mirror
© 1 - small ripples
+ 2 - small wavelets
® 3 - crests break

* 4 - numerous white caps

® 5 - moderate waves, some spray

¢ 6 - moderate waves, more spray
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Fishery activities

no trawlers around

L]

trawler visible at >2km away

trawler visible at <2km away

active trawler at <0.5km

fishing fleet around
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Fishery activities

no trawlers around
* angling boat visible
* trawler visible at >2km
* trawler visible at <km

@ trawler at 0.5-2km
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